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Student: Instructor: Alfredo Alvarez Assignment:
Date Course: Math 1314 Sullivan Coreq finaim1314COC056sulkellywinsall56 \.'?\
= i =4

’[ 1. (S_Qlweihe quadratic equation by@:torlag C 4 — L = i) | 4 &{/
| - W (uued Y
e (C+) (8 < (| d
.‘ - é——_é) N iV
| The solution set is { ), Eryzo o ;= !/

(Simplify your answer. Use a comma to separate answers as needed.) O( (_ . a"‘,_/— 5 = O & 6

_ EA+¥ — = U'( e !I
' Answer: —4.8 < .6— B ~Q( G,/z, ('6_ g . o

s /
Y

ID: Quick Check PF.4.9

2. Soive tha equatlo C-:?)ﬁ [ -7 Z

JUS(' Synhabic v 6%
, 8x -l-x -72x-9=0 ?f’ _z} -3

The solution set is {

I
._’ f (Simplify your answer.
Wlse S} ,..?;4 i é]lf‘}.ft\ i

Answer:

ID: PF.4.39

Find the@é& d (P1 Pz) between the given points

A W) 7 )
i <-( R/GZ0) Lo ( (5) ~/a)) x

mf(mﬂ) A A
a(Ps pz)- (/('7%/%)

(Simplify your answer. Type an exact answer, using radicals as needed.)

Answer: /26 A:{ l /Zﬁr"f'/

Cj g &950/%"/31
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Y
4. Find @nidp’oirfmt of the line segment joining the points P, and P,,.

P1 =(21 _6)1 Pz =(4v 6)
l \"fr .{ { k_f L
The midpoint of the line segment joining the points P, and P, is
(Simplify your answer. Type an ordered pair.)

) ("” §)

Answer: (3,0)

ID: F.1.39 |

| e I
/44(‘/709\% :(—%(’ *’{"'i"k)

pdpot = [ (ﬁf/ (228
27y b.,(’,f—()

//’(II(,"( ;/x.' .,‘l = f—*’l—"‘ 7

_ .
W elpont < (5= 7
)47//0 / 7_/ F

C//Mw/ /ﬂu = g 3/ o) y /

L

i o
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5. ' g
Fortheqquallonx +y ~2x-4y-31=0, do the o

following. ——— = = ]

(a) Find the center (h,k) and radius r of thé csrcle = / \(T‘* ]
(b) Graph the circle. (
(c) Find the intercepts, if any.

(a) The center is
(Type an ordered pair.)

<
[§
X
\
'\

N
&n
.
&

A

o
el
)

fo
0
8;{ N

The radius is r= e - 2]
(b) Use the graphing tool to graph the circle. -4—'
(c) Find the intercepts, if any. Select the correct choice -6
below and, if necessary, fill in the answer box to complete 1
your choice. -8
o
-10-
A. The intercepfi(s) is/are D)
(Type an ordered pair. Use a comma to / ¥ 7 FZ( _1_(/ ¢ 3 I . '
separate answers as needed. Type V4 I C W7~ / [(

k P—"
exact answers for each coordinate, using /( — )( ——fj /:/ 3 l

radicals as needed.)
T (b Ly ()31 (ol
Sl _Z/(~—(~ (- fj ¢y @)= 31 ) b t2)
Wtor] Ay e Y = *”'7“/"“ C/
é,ﬂ)u,,)/-j\mq)@ L) = 36
| £ i )\(V’) "f// Z/ (’85/
2 ) (’/’/; (f)Z) e
PR R (/Z% RN TR AR '

-1 []J

A. The intercept(s) is/are (1-442,0),(1+442,0),(0,2-+435),(0,2+435) .
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each
coordinate, using radicals as needed.)
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ID: F.4.27

6. Find the domain of the function.

f(x) = 4/4x - 28

The domain is . (Type your answer in interval notation.)

Answer: [7,00)

ID: 1.1.59 4(} ;/

:
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( F+560 =
7. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = 3x + 5; g(x) = 6x - 1 £ + 2 5</ '
) ) =V
(a) Find (f+g)(x). ( : ,(/ y (> /
(f+g)(x) = (Smphfyf(;pur answen)— G)("/ - M M )
7 =
What is the domain of f +g? Select the correctchoice be!ow and, if necessary, fill in the”a’n's/wer box to complete your
choice. % — 9 )/;()
L6 — § )=
O A. The domain is {x| r }. - )
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( A ) — ( 61
(O B. The domain is {x| x is any real number}. v v — ( ./ 7+ /[ = (
’ X;— —— «;.\_,/ O
(b) Find (F- g)(x). C =3 6= /

(f-g)(x)= (Simplify your answer.) ( / 9) / )// ( ( 0& M )

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice. TR /ﬂ()

(wf&)((% —i) <

O A. The domain is {x| }-
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) [ J)( “"5 X~ g )./ ——S— .

QO B. The domain is {x| x is any real number} N

l — ' g,
(c) Find (f+ g)(x). / fr/ (— 7 )( S (() rh Gy
(frg)(x)= (Simplify your answer.) ( 9_’)/)( )< / 00 M )

What is the domain of f g? Select the correct choice below and, if necessary, fill in the answer box to complete-your~
choice. C 5]

O A. Thedomainis {x| }. ? ({)

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) 3)(45 \ 4,4;(~ {{ { &

) B. The domain is {x| x is any real number}. = —al!
O OX“—(7( = 07‘/

f -
(d) Find (5] (). S 6 X =/
(i] (x)= (Slmpllfy(i; Zn}sv/.r)e? - 9’(_/)7/ O = L
—_— /” 7 9)( 35 ‘(?) i g Q\W,a,q Q/HF

J bissveia
What is the domain of —? Select the _co?(ecf ca ic below and :f necessary. f Il in the answer box to complete your

choice. ( ( 7‘)”)/ 3) 3 __ﬁ;

QA. Thedomainis {x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

TR Tha damain ia ful wia amo saal aoesicael
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(e) Find (f +g)(3).

AUps.//Ricmproa.pearsoncmeg.com apr/'vl/print/math

/ ///’d S S b
F-9(2) <
(f+9g)@3)= (Type an integer or a gumphf ied fractlon)
=9 1) ==—6"

= =3 (L)t
=6 7~ [

(f) Find (f - g)(2). '7/*‘/(2) -0 “\c

(f-9)2)= (Type an intege ja simplified fraction.)

(9) Find (F+g)(4). JJM /j>( +&/,\/~

(f-g)4)= (Type an integeror a simplified fraction.) - _
O 2r27 ()

[
(h) Find ( g] ().

)</ 3(%) /
/@/}//( /“/)) 4 f(C V) 27 (¥ —
/“"/’( C)rine) 27 (94

f
—[(1)= (Type an integer or a simplified fraction
[g ] ( g P ) / ( // ’(

/09’(?) < %4

Answers 9x+4 g/@///y/ 7l ) /6

B. The domain is {x| x j

TN 3 7) P

-3x+6

B. The domain is {xl X is any real number}. ),
— 4 = =
18x2 +27x - 5 (‘ 6x— |

B. The domain is {x| x is any real number}. ) 3 , —+ S -

3x+5
6x-1

AThedomamls{x| x#— }('5’)()

(Use integers or fractions for any numbers in the expression. Use a ¢ _Mepa\rate answers as needed.)
31 ‘
0

391 N 2

8
5

ID: 1.1.67
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o)) <

8. Forthe given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

< é/ -
09 =x~1; g =82 b 1) ~
_ (V=) * (6«') < I
(a) Find (f + g)(x). {_/ | — 4 (5 'Z—/ = G\
f+g)(x)= melmm e - 7 f >&
What is the domain of f+g? Se rrect choice below.and;if necessary, fill In the answer box to complete your

choice. ( / _—-)/)/3( ) -
A. The domain is {x| /@ }’—— I <

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) (*/,',/ S (i( 'L) -

B. The domain is {x| x is any real number}

X f"""'fowm
(b) Find (f- g)(x). )( ,_f‘l\/ ( 3
(- 9)0) = w ( —¢<, (V)

What is the domain of f-g? Select the T/qrrect choice below and, if necessary, filNa_the answer box-to- mplete your

choice. j // )d
A. The domain is {x] /,.(?}q ‘-',6(} -

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( 2 " C
ini al-numbe ( ) -

B. The domain is {x| x is any re

I v
(c) Find (f* @)(x). Q — ix’\ () me o w
C—- o 00D
What is the domain of f g? Select the correct choiceQef_ nd, if nécessary, ll4uﬂ1§j_rﬂvgngjacampieie your
choice. '
fed)
-““___-f—. e
A. The domain is {x| } j‘?

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(feg)(x)= (Simplify your answer.)

-

— | - 1
B. The domain is {x]| x is any real n@ L"//L./g\‘( L‘: Q
f e = ~
= a

(d) Find (E] (x).

(Simplify your answer.) - =

(g = 5= Yrme

What is the domain of —? Selegtthe correct choice below and if necessary, fill in the a swer box to compl\te your

choice. ’ *ﬂ/ &) ~f(‘sf) +(¥) — ( Pt ,(
A. The domain is {x|( T’)/l/%/ ZM/‘?/ _,‘_/}9 - o

(Use integers or fractions for any % jrs in the expression. Use a comma to separate

) answers as neej_d_.z r$) 7’2£_’&;¢ ....-/
7 of 51 Q@/gf) =5 / 'g / \NL 2/16/2020, 4:09 PM
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( //ﬁ~~&€m>/
/7/ (3)<~803) 30—/
,éﬂg <=8 )R) ~13)— /

(f+g)(4)= smphﬁed fraction.)
() Find (f- g)(3). (" /’" 7/( %) T (X +3—/

mtega:.ona.srmpllﬁed.ftachon -

(e) Find (f + g)(4).

(f-9)3)=

(9) Find (f+g)(2).
(f-9)2)= (Type an integer or a simplified fraction. )

na [ Ko )8 = X -—-d’x’
(h) Find (E] (2). As (2) Z({) - f(7)
[§e- f Mﬁ;r L L@ — )

5.2
Answers 8x2 +x-1

9)(2) < 32 “féﬁf
B. The domain is {x| X.is any real i

-8 +x-1 (f')’)qg Z(L

B. The domain is {x| x is any real number}
(2)—/
o s

8x> - 8x2 ( ( 2) < .
B. The domain is {x| x is any real numbej 7(?) £

o | C) (2) 2(0;?)

A. The domain is {x| b,

32

ID: 1.1.69

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

(Use integers or fractions for any numbers in_the expression. Use acomma to’ separale answers as needed.)
131 (f) ( 7 ) — b e

8 of 51
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f(x + h) - f(x)

9.
Find the difference quotient of f; that is, find h

, h#0, for the following function. Be sure to simplify.

f(x)=x% - 2x+6

fix+h)-f(x)
S

Answer: 2x+h-2 ,{,}:// = s L 2/(/_/ 6

ID: 1.1.83 /({,/) %5(/ _

/(/44%—2_(\/44/—#6)_6( LXFe)  —
Z

14 p :
(i) let) —2x~2h 7€ i il 2 Ll B

Z
, E . . o
X (it sy ot vty TG X T DT P

lr“
X
\
5
N
|
N\
T};
N
)
||

g __
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10. Determine whether the graph on the right is that of a function by using the p S ) " y ' 5 ’,_f

vertical-line test. If it is, use the graph to find the following. WU/\/ ; e

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

Does the graph represent a function? Choose the correct answer below.

A. No, the graph is not a function because a vertical line x = - 4 intersects the graph at only one

point.
( c/ B. Yes, the graph is a function because every vertical line intersects the graph in at most one 0/)
~_, pomt : ——— -

C. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.

D. No, the graph is not a function because a vertical line x= - 4 intersects the graph at two
points.

(a) What are the domain and range of the function? Select the correct choice below and, if necessary, fill in the
answer box(es) to complete your choice. ( / [ 4 bé of

)
of {5 L}/‘q{angels oo, .S )é——_(é"//m 76/)

' A. The domam i
{Tyée your answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete
your choice.

: o
/A. The intercept(s) is/are [ / / ) )( : ] b

(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not that of a function.
(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.
The graph is symmetric with respect to the y-axis.

The graph is symmetric with respect to the origin.

The graph is symmetrlc WIth respect to the x-axis.

‘o w op

e ——
C_ ¥ D. The graph has no symmetry. \\_}

E. The graph is not that of a function.

10 of 51 2/16/2020, 4:09 PM
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Answers B. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (-5,0) . Therange is (- 00,5)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (-1,0)
(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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11.
Determine whether the graph is that of a function by ) ,,_) (, )
using the vertical-line test. If it is, use the graph to find Q / 42 ’

(a) its domain and range.

. L
(b) the intercepts, if any. il x
(c) any symmetry with respect to the x-axis, y-axis, or 15 1775

the origin. o i 0‘
42 1 6%

o
G‘
N’

Is the graph that of a function?

C O Yes

— I

No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and
fill in any answer boxes within your choice. ( et (! Vish 4/) 24 .
= 1 é‘/ S (‘,.—-—‘— =z ()‘ I! i 1 |{.' j/),f
A The@mam is (“ ',‘( ) ) Thg range is ("‘ 'S 6 )
(Type your answers in interval notation. )
B. The graph is not a function.

What are the” mtercepts” Sei?ct the c?rrect chouc[e below and fill in any answer boxes within your choice.
il e | AW

- lors o
] e by, LA AT
s (—7/0/ (‘/’ o) [0 (,)/
(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not a function.

Determine if the graph is symmetrical.

A. Itis symmetrical with respect to t the X-aXlS

«'B. Itis symmetrical with respect to the y-axis. IR
Ty CTrissymmetioal with respect to the origin.
D. The graph is not symmetrical.
E. The graph is not a function.

Answers Yes

A.Thedomainis (-o00,00) .Therangeis (-00,8] .
(Type your answers in interval notation.)

A. (9,0),(-9,0),(0,6) (Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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12. Using the given graph of the function f, find the following.
(a) the intercepts, if any
(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

(a) What are lr{g\ntercepts'}

g,/ o) (4°) (@ 2)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
(b) Thgiomamis ( -3 ! 3) Z/ /4 rio4s(

(Type y ur-answer in mterval notatlon )

I Ao ! Ve [';\
range is l( ; é_ Z bo A 73/3 \OC ) Jf.-;o\/)/,.-_;

e your answer in in el notatlon ) Vl v

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxs s w@w
your choice. (P F /
y ¢ e »

_—— T e e S
A. The graph j§ increasing on = /) O/.( L ly 2. \
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within

your choice.
e ._' ,_J Z\U Z/j

A. The grap@ decreasing on

(Type your answerin interval notatlon Use a comma to separate answers as needed.)
B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)
terval.

( /i B The graph is not constant on any in

(d) The function is (1)

ORER
< ~~neither odd nor even.
even.

13 of 51 2/16/2020, 4:09 PM
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Answers (- 1,0),(2,0),(0,2)
[-3.3]
[0.3]

A. The graph is increasingon [-1,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID:1.3.25
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13. Using the given graph of the function f, find the following.

15 of 51

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

i —
-

r/-

(a) What are the@emeg@;‘?

CI R ,

(Slmpllf?your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b)The@mamIs - .3/- ( //,r f 4 f :-{ )
(Type your answer in in erval notahon Ro to the nearest integer as needed) > ]

Th{r;;ge i: 0 (N2 h) ﬂ (,)V‘-\ /( )

{Typé'ycfur answer in interval notation. Round to the nearest integer as eeded)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within
your choice.

P H‘\\ o v \ -
A. The graphis m'easmg on (’— W (& )
(Type your answer in interval notation. Use a comnia to separate answers as needed.)

B. There is no interval on which the graph is increasing.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within
your choice.

A. The graph is decreasing on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

'L o B There is no interval on whlch the graph is decreasmg A

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

"(7B. There is no interval on which the graph is constant.  °

— —

(d) The function is (1)

(1) odd. -
¢ - neither even nor odd.
“even.

2/16/2020, 4:09 PM
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Answers (0,1)
(= 00,00)
(0,00)

A._The graph is increasingon (= 00,00)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. There is no interval on which the graph is decreasing.
B. There is no interval on which the graph is constant.

(1) neither even nor odd.

ID: 1.3.27
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14. Using the given graph of the function f, find the following.

17 of 51

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

¥ ¢ ol
% W
(a) What are t eintercepts?,(%l " ;
d, O )

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
"~ i / p: : —(
(b) Thgdomamls 3‘} =< [//’{-é £15h |
(Type your answer in interval notatlon ) —
— , b F,dj’ (
Th?fange is' E% ﬂ & Z g’“’ #um /0 A
(Type-your answer in inteerI notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within
your choice.

s
v
N
>§

' ,-‘ 2
A. The graph |5(Fncreasmg on | A S
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within
your choice.

A. The graph is Qecreasmg on L = | J l. k
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph rs@nslar{ton / S j) L f Z f

(Type your answer in interval notatlon Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(d) The function is (1)

e
» —

-~

(f)-<neither odd noreven.
odd.

even.

2/16/2020, 4:09 PM
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5
Answers (0,0), (50]

[-3.3]
[-1.2]

A. The graph is increasing on [2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-1,1]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is constanton [-3,-1],[1,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31
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‘4/5 5//*’4/
) o9 "
5.v) 409 =~ »

(V) 2 (’)/Y)

Cl \) JEE N ¢
L >
U“\’OQJWV‘/‘\'A 3 6

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. /[ .

A. The absolute maximum of y = f(x) s f( 2 )= C? OQ/ ( >, 6 )

(Type-integers or simplified fractions.)
B. There is no absolute maximum for y = f(x). / /
Vgl

15. " For the graph of a function y = f(x) shown to the right, find the absolute Ay ( )
maximum and the absolute minimum, if they exist. Identify any local maxima Ly
or local minima.

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. Theabsolute minimum ofy=f(x)isf( ‘ )= x Cl( ( / / )
(Type integers or simplified fractions.)

B. There is no absolute minimum for y = f(x). N
fonte

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. The lopal maxunum of y=f(x) is f( 3 )= () ()( /g é )

(Type integers or samphfad fractions.)

B. The local maxima of y = f(x) are f( )= “and

f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.) \

o
C. There is no local maximum for y = f(x). !}U ‘,,..f

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. The Ioc-arr;;;r;um of y=f(x) is f(_ { ) = j ; OL (// / )

{Type integers or simplified fractions. )

B. The local minima of y = (x) are f( )= and

il )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).
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Answers A. The absolute maximum of y =f(x) is f ( 3 ) = 6
(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f( 1 )= 1
(Type integers or simplified fractions.)

A. The local maximum of y =f(x) is f ( 3 ] = 6
(Type integers or simplified fractions.)

A. The local minimum of y =f(x) is f( 1 ) = 1
(Type integers or simplified fractions.)

ID: 1.3.51
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16. The function f is defined as follows.
-2x+3 ifx<1
f(x) =
4x-3 if x=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function f is
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A. The intercept(s) is/are .
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

(c) Choose the correct graph below.

(d) The range of the function f is
{Type your answer in interval notation.)

Answers ( — co,00)

A. The intercept(s) is/are (0,3) . (u ¢

) <,
— it gl
S il . H}_J'H,,/ | ; — | ) C,/.{. L
\~H}%(_4T_:i’fﬁ-z J//?P ,g e Z/y/\fp M 2( CIJS (
N ._?" J

_ 2/16/2020,4:09.PM

ID: 1.4.33 y o

|
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17. The function f is defined as follows.

4+x ifx<0
f(x) =
XX  ifx=20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function f is
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A. The intercept(s) is/are ¥
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

(d) The range of the function f is . == ~

>
(Type your answer in interval notation.) - '{ N
: ] , -9 =3
S A D /"// o5 \

Answers (— c0,00) ¥
C L / [ (o /\ '['I.J el
A. The intercept(s) is/are (-4,0),(0,0) . ' = =

(Type an ordered pair. Use a comma to separate answers as needed.)

ATE RS

o = e
D. Y15 ~/ —
R e S 22,

-~ — 7 yrea /4

JPén ol

ID: 1.4.37 / L - (o ””J:—;‘—— ( | )/ < O )
———— A B SO
- i ( | _2 ) C/JS,( C‘l/(;é( J
M) o ¥ X=0)
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18. The graph of a function f is illustrated to the right. Use the graph of f as the first
step toward graphing each of the following functions.

(@) FOg =f(x) +4 (b) G(x) =f(x +3) (€) P(x) = ~f(x)

1
(d) H(x) = f(x+ 1) =1 () Q) = f(x) () g0 =f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 4 below. 2 =

A. B. C.

\
»'/rr
i
(d) Choose the correct graph of H(x) = f(x+ 1) - 1 below. - .‘.—— - (—J_,—,_;};’ > -x\__‘___??_-'._ :
3 /ft/ /fﬁ_‘:_' 5 (g{i (,Kl ¢ /- iz '-..-\.__\
A. QL,_‘ . B. __‘f\‘? q\ c. P -—/( ; __-Ilf L/; _.\\
y
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1
(e) Choose the correct graph of Q(x) = Ef(x) below.

A.
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Answers

ID: 1.5.63
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19.
(a) Graph f(x) = |x + 4| - 2 using transformations.
(b) Find the area of the region bounded by f and the
x-axis that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis
that lies below the x-axis is square

units.
(Simplify your answer.)

Answers

https://xlitemprod.pearsoncmg.com/api/v 1/print/math
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20. Solve the fo]lowmg equation using thé quadratnc formuld.
- + 1/
3x234x 4=0 /—’ ¢) 'f_(/lj) 7(3)("() ¥ | /C-r~§‘f
A=3 LT~ CTY (3 B . é,a*.—"_
The sblution set{s { L. / = .i"_.—é__fr”_g_?' —

Use a comma to separate answers as needed.)
?‘,Zj - o4

Answer: 2

S

ID: Quick Check P2.2.2 2_"‘

——— - - —

21. Find th ’zefO} if any, éh&quadrah&funcﬂon u‘smg H\e quadrahc fqrm’ﬁla What are the x-intercepts, if any, of the

raph Eheunclion? g <t ¢ i //, —R V) Sty L L F St
{ g —— = AR

f(x) = 4x% - 1+ 2x ,( d = M,Lq (&) ‘i //,__
- -2 Yoo i

Select the correct choice below and, |f necessary, fill in the answer box to complete your choice. =
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a =

comma to separate answers as needed.) 7+ s S
A. The zeros and the x-intercepts are the same. They are . _ - 97
The zeros and the x-intercepts are different. The zeros are » the x-intercepts 7 -_PW ﬁ/_(_
B. - LSS T
are i 4
C. There is no real zero solution and no x-intercept. 72+ Y ﬂ::
~1+45 -1-45 -)
Answer: A. The zeros and the x-intercepts are the same. They are 7 '3 . 2 (_ [t I/ﬁ-
— _,__.._-——————"_

. ~l-ﬂ/ 5y % = __{,/*— P
ID: 2.3.47 )( ((}/Q(# = _)\ z —(# Vs 3

[N

e—

22. Find the real zeros of the function. What are the x-mtercepts of the graph of the function?
g(x) =x+54/x -6 7A,LAL X~ S’ﬁ ~—& T C)

Select the correct choice below and fill in the answer box to complete your choice.

A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

B.
are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are 1

ID: 2.3.75 X+t SVx — 6 & O
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)( ”“37)("(”76f )

(X — 1) (X—36) =

e O KPEe
Jaspdl =T N X~ 6+3{::C):f'?6
(ML Gm

VsV —6 = o

X+ Sl — 6~
(1)+<UT =6z (37 /% —6 <
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23.
Graph the function f(x) = - x% +2x by starting with the 30_’”
graph of y = x2 and using transformations (shifting, :
stretching/compressing, and/or reflecting). 25”
—— 20-;
Use the graphing tool to. graph the function. i “/( ' 15-.1
L( L hA gea 4 F 18
. n )

izl 8

e ¢ KJ‘“’(XD ' =

v

-

: v
(M ) r L/ Y ot [ (S B ——r—T T
~, w S 4o 8 & 4 23 2 4 86 & 10

Ot

ID:2.4.29

28 of 51 - 2/16/2020, 4:09 PM



finalm13 14COCO056sulkellywinsall56-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math
il
o
By
NT

29 of 51 2/16/2020, 4:09 PM



mnaim13 14C0OCUdOsuIKellywinsall>o-Aliredo Alvarez https://xlitemprod.pearsoncmg.com/apyv I/prinymath

£
(14
L l/ / For the quadratic function f(x) = X2 +2x - 8, answer parts 20 A
" (a) through (c). :
16
(a) Graph the quadratic function by determining whether its u-
graph opens up or down and by finding its vertex, axis of '

symmetry, y-intercept, and x-intercepts, if any. 84
Does the graph of f open up or down? 4-
1 %
down 20 46 -12 -8 4 ] 4 8 12 16 20
up e

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any 15—
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

ie Aarraacinn
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Answers up ‘. ,{0771-/( ; I'M \
o i %2 }(/ a /H\

(-1.-9) [/’ /ct 614 14 \
OC’(‘/\ O R //f @*L")

x=-1

A. The x-intercepft(s) is/are -4,2 .
(Type an integer or a decimal. Use a comma to separate answers a5 needed. )

A. The y-intercept is -8 (Type an integer or a decimal.) 7 a4Y L W QﬂL

\u WY beco
Lok v w1
'\)“‘ k‘\ /) v/ /

/4 C""i\{(" SJJA

%m\r‘/‘f’ e‘fl o)

20 -18 -12 8
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/(Eg\t {L 7/(
N( 4 \“W
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4
(lv or the quadratic function f(x) = - 2x> - 2x - 1, answer 1@“”
-~~~ parts (a) through (c). Verify the results using a graphing g
utility. 8]

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of 4-:
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1) P R ASa T omo s —— oo oo e .,x';
10 -8 6 4 -2 2 4 6 B 10
The vertex of f is . £2-
(Type an ordered pair.) _4_3
The axis of symmetry is _5,
(Type an equation. Simplify your answer)
Determine the y-intercept. Select the correct choice below
-0

and, if necessary, fill in the answer box to complete your
choice.

(O A. The y-intercept is .
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

(O B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval

33 of 51 2/16/2020, 4:09 PM
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(1) - ' down.
) up.

A. The y-intercept is

B. There is no x-intercept.

ID: 2.4.43
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e S e X = V:"/'ﬁ(’K — =
26. Determil’rﬁjwithout graghigg: whether the given quadratic function ha{mamr a minimum value and

, then find the value. Ay 5 LY E —~ = :
o ‘f"“{:’&J N~ /(’ﬁ)) < (—— == /*Q’;’)D
heo G f09="3¢ +30x-1 = 263) o1
Q=% L:3a, Coof . €2)
}/}1 v Does the quadratic function f have a minimum value or a maxum'um valga? — }_ o / ( — )
—CG

= /S’) )///5’ ))

{1 The function f has a minimum value.

() The function f has a maximum value.

What is this minimum or maximum value?

L
= (5; —3(s) = 30(s)—1) B
(Simplify your answer.) C('D -’3(3“)(!‘/ 'T?O/S')"/J :
Answers The functionfhasama)fi[ndqr;gi ||'£Lﬁ "_Z}T”’"’ [0 _’)
74 < = (J} W} --\}
] /
ID: 2.4.59 fﬁd X Nk

— g — —

57 Construct a polynomial function that might have the given graph.

2 A (¢){-s)= <

15

Vo= 3 -y o (-5 T (OJ‘JZ (.'5;0) (5] )
ijpga on X7 | |

" ey zor3 O (s =0T 5

<j3?fii ‘”4<:z?i;i> =

Choose the correct answer below.

-

2-\—\ (,)LM’J-- |

A f§x1=x2_(x—3)(x-5) ~ {r’“‘ [ T = Q \

C. f(x)=x(x+3)(x+5) A//_)MK'( é

D. f(x)=x2(x+3)(x+5) —rnA "/‘7

Answer: B. f(x) = x(x — 3)(x - 5) Ly — }’W A < T /J

ID: 3.1.73 £ o =
. > s I — ™
— T )
Pl ; ~
Q l “ X ( y e i
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28. Solve the equation in th mplex number systern ) =
T - (RIRVED ) . (0T ey
X% -10x+61=0 . _
w=( be-p C-6f “ain) <
The solution set is { ’ } (Use a comma to separate answers as needed.). /0 —+ ‘./:7"/_‘_7’_
‘1/’_ -
Answer: 5-6i,5+6i Jo J2
Y=S—6) & (K =
ID: 3.3.2 = X ST LA
i o= Y 77 5 SIAA s
29. Find the complex zeros of the following polynomial function. Write f in factored form 55, 1’( . = bl
) 2 )| -F v —1G  TFos
' f(x) = X -—Sj +25x-26 / 2 — - - 426
$7uabhcd = = S e
U >e /Tﬁeoomp!exzemgoffa o —G ) @ l/"( IS \
(Simplify your answer. Type an exact answer, usi@iradicals and iygs needed. integers or fractions for any [, 1
numbers in the expression. Use a comma to separate answers as eeded.) + _{éf * / [ -
Use the ZOmpIex zeros to factor f. ( )/ L 6 )< ~F / 3 -] I <
U So)wFh. ' o . C . 1/
2 ey e <l b=~ = /3 *ZO i(_b’gﬂ L
(Type your answer in factored form. Type an exact Jnswer using raeﬁcals and i as needed. seﬁmegers” or fractions

for any numbers in the expression.) ( _ B i. i rd / e ‘7‘( L o

Answers 2,3-2i,3+21i

(x-2)(x-3+2i)(x-3-2i) )( C’Cl’)’:(/(ﬂ, “'y//)(/g)

& (/ )
ID:3.3.33

Y-
/z TV 76

1 -
,;f_'__,

)(':
)(%
)(3

<5 Af‘ >

ﬁ
I3
vy

_..-—-'"j
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—
/ N % =
30. Findt vertlca( honzontal and oblqu symptotes}any, for the following rational function.

k—/ 14 o 3 P
R(X)"x+:(9 Z? /Z(":_lL )("// /7 - | ’/g
Select th t ch bel é—(,}b\'—-( \uﬁgg‘/' it?; {h(/’}-/é =
elect the correct choice below and fillin any answer boxes witnin your ¢ ?/{/ ~ ‘_'/ ‘._\\

A. The vertical asymptote(s) is/are x =

(Use a comma to separate answers as needed ) (/NJ | L /r/', _// e ‘\T( /
() B._There is no vertical asymptote. G S A, 1)/ /-{ i
Select the correct choice below and fill in any answer boxes within your choice.
¢ /¥ Aishoss P Jw
A, i ; = X| = — - <
The horizontal asymptote(s) is/are y f ) f X1 5 /7 r y oy /’//tu/ },’J ,/Z;m\

(Use a comma to separate answers as needed.) /‘%

) B. There is no horizontal asymptote. . y

Select the correct choice below and fill in any answer boxes within your choice. ——

7 A. The oblique asymptote(s) is/are y = B
(Use a comma to separate answers as needed )

) B. There is no oblique asymptot /U// i "\j¢ R
a S G 57 iy /L/_/«_/ -

Answers A. The vertical asymptote(s) is/are X= . 19
(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 14 5 3 _

(Use a comma to separate answers as needed.) L/ /_/,
' PG

B. There is no oblnque asy_mgtgt_e_______ — e

/LL( /} [,5 /W/ /7 /17——!_1

)

: /
QA Crrf as /i: "9y ,{ /«(ﬁw’/ /49! 2, jr-’{,fmi \
/Ao fhen . 1s P70 0 2 e J
d57 7 o T

e

ID: 3.4.45 5 1A

g™

"\__h“
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31.

38 of 51

For f(x) =6x+ 8 and g(x) = 9x, find the following composite functions and state the domain of each.

(@) fog (b) gof (c) fof (d) gog
(a) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain of fogis {x | }-
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of f o g is all real numbers.
(b) (g o )(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain of g o fis {x | }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o f is all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(2 A. The domain of fof is {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

3 B. The domain of f o f is all real numbers.
(d) (gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

'.» A. The domain of go giis {x | )
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

2/16/2020, 4:09 PM
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Answers 54x+8
B. The domain of f o g is all real numbers.
54x +72
B. The domain of g o f is all real numbers.
36x + 56
B. The domain of f o f is all real numbers.
81x

B. The domain of g o g is all real numbers.

ID: 4.1.23 7 /I
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(b) Find the domain and the range of f and f
(c) Graphf, ™1

(@)f "

The function f(x) =6x + 2 is one-to-one.

(a) Find the inverse of f and check the answer.
-1

(x)=

and y = x on the same coordinate axes.

(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

Find the domain of f

The domain is {x|x#
The domain is {x|x2

The domain is {x|xs

©O 0w »

numbers.

A. The range is {y|y=
B. The rangeis {yly#
C. The rangeis {y|y2

D. The range is the set of all real numbers.

-1

The domain is the set of all real

).
).
).

. Select the correct choice below )( — l

and, if necessary, fill in the answer box to complete your
choice.

Find the range of f

The domain is {x|x2
The domain is {x|x<

The domain is {x|x#

o0 ® »

numbers.

-1

The domain is the set of all real

LRV S S

. Select the correct choice below and,

if necessary, fill in the answer box to complete your choic,ef"/

41 of 51

The range is {y|y¢
The range is {y]ys
The range is {ylyz

S 0 ® »

The range is the set of all real nu
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X_2 e

Answers o
6 - i ){/(,’L /
D. The domain is the set of all real numbers. e <. Q) o ——
D. The range is the set of all real numbers. t/‘ i // /"

D. The domain is the set of all real numbers. (g = \/‘) -
¢/( 1L
D. The range is the set of all real numb(_ers\ = (0

ID: 4.2.53

i 33 Solve the equation. T 2__ S Z{)’/
e (2 )@

=32 ~4 % -f/oﬂ

—hemr

The solutlon setis

9’1#/0/'*@(
— v Iy AP = X0
ID: 4.3.73 "(f)(fﬁﬂ/("/df . / -
=T —sX TS5~ FS5HA

—IX==~/07

IR LY

P

=5 T =9

(Y= -
)
42 of 51 e 6/2020;409PM
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34. The percentage of patients P who have survived t years after initial diagnosis of a certain disease is modeled by the

function P(t) = 100(0.8)". /(—/ /U0 /&"’ 2// <

(a) According to the model, what percent of patients survive 1 year after |n|t|al diagnosis?

b) What t of patient 3 fter initial di ? T
(b) at percent of patients survive 3 years after initial diagnosis? m/ /)_ /UJ Cﬁ 27) /I)

(c) Explain the meaning of the base 0.8 in the context of this proble

o
(a) According to the model, % of patients survi 1 yg,’ -after tmtdiagnosls — E’ ’;_ ( G
(Type an integer or a décimal.)

(b) According to the model, % of patients survjve 3 yéars after initial diagnosis.
(Type an integer or a decimal.)

(c) Explain the meaning of the base 0.8 in the context of this problem. Select the correct choice below and fill in the

answer box to complete your choice. % é/ = /0 O (0’ 27 j 6

O A. Aseach year passes, % of the previous survivors take the diagnosis.
QO B. Aseach year passes, % of the previous year's survivors have survived.
(O C. As-each year passes, ______ %ofthe total patients have survived.
s sty oleln. y23) /000 V) vz
Answers 80 e et —~
51.2 /['}) f/ Z N
B. As each year passes, 80 % of the previous year's survivors have survived. F-/J_"f_? —
ID:4.3.109 [

3 /’;F "@ ° l % / =
35. The ft_mc_:_tzon : rq h ; . / (/1 g )/ < ,rf Fy-r\ H{:
B =y ' //-
<a Dh)=6¢ ~%12h ™ C« /C [eLy. o
n be used to find-the number of milligram certain drug thatisin a patient's bloodstream h hours after the
drug has been administered. How many milligrams will be present {ﬁéfihoult? Aﬂ@ours?

After 1 hour, there will be milligrams. (Round to two decimal places as needea.)
After 10 hours, there will be milligrams. (Round to two declma! places as needad?
LT D LA /

Answers 5.32 Dﬂ} 6(? (_O /Z/l)) r)(/) (C ”‘0,/2_(_/@)

181

'wwn, c3i G0y L 7
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36. Find the/domain of the function.— Y¢ > O

fx)=In(x+1)

The domain of f is
(Type your answer in interval notatlon )

Answer: (- 1,00)

ID: 4.4.39

37. Solve the equation.

log ,(4x+5)=5 and,

Change the given logarithmic e ’tiqnjo.expﬁnénhal form.

VANVAVIEEE G S N

(Type an equation. Do not simplify.) 3 Z ) S‘ iz
S

The solution set is { b 3 (. < SL)( _(/)/
(Simplify your answer. Use a comma to separate answers as needed.) -

A7 =z Y«
27 ¥

Answers 4, + 5= 2°

27
4

ID: 4.4.91-Setup & Solve

‘L\t____._——_"ﬁa_.__._‘___,.-"'_“\_:ﬁ—_

= . L)(
5¢%% =14 _,iﬁ__ -
The solution set is { }

(Type an exact answer. Simplify your answer. Use a comma to separate answers as needed.) -

0 ¢ l )< y
Answer: In 2. 8 € z‘ 7

ﬂq (’0 Zj /Z/Z,- 7///

|D244/11097\/l/ /?-’«‘)—ﬁ-; // 3’)

7 A7

0. 2x (1) Lrep/ ( ..
0. lxX = P (2. Y S —
OAX . (27

G s
. L

e . T e ' N-mzwa:w PM

—

~—
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3z20C ﬂ:( />) —-()fjﬁ

39. The formula —0, 24 2
. - L= —0-3 'h/&"”'j
_ -0.3h — — —
D=20e 20 T Tio

can be used to find the number of milligrams D of a certain drug hat is/in a patient's bloodstream h hours after the
drug was administered. When the number of mt—%g ms reaches 3, the d .lato aﬁdnllllstered agaln What is
the time between injections? 5 3

il5= € - /
The time between injections is hour(s). — U = ~ A ;
(Type an integer o 7«1 /rnal rounded ta,two d t071w0 decimal plafes asn de( 3 . 73 3, Z, { 3 - =

/5) <.

(o Y5) 0. ?/4/}{(/ C 32 < h ) /a wal
ID: 4.4.125 /ﬁ{,/ §) = —0 ,3/‘[/24:/ ( e

40.  Wte the expression as a sum and/or difierence oflogarithms. Express powers as factors,

B X(x +4) x>0/’"7/tj {(}(r‘f} (u)(/(i“}) 3
g[(x+5)3], (c)f)(?—f fuj, (/(—rv/ ___h(c,\ ()(—+C) el

x(x +4) ] g é LI(Sim;ﬁf]y yjur agsﬁv:gr ) (/(4— Af/ o 3 év‘b ()(-%i)——

Answer: 6.32 ©

(X+5)

Answer: log x+ log (x +4)-3log(x+5)

Los @) wlesd) > (5(51) (o) (@/g/ Y los (A8 Loy @7 /(’u)/,g’/}
Frml_ 4

ID: 4.5.51

41@@6€lbgarithmic equation. Z()j P ( K /) = C(/)',L ( (z‘)
Yol = 9
(e~ =

log ,(x+1)=log,9

Determine the equation to be solved after removing the logarithm.

(Type an equation. Do not simplify.)

O A. The solution set is { 3
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

(O B. There is no solution.

Answers x+1=9

A. The solution set is { 8 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve

e e e L -"'“‘\__________.—— e ————
Wﬂ_____—r’"

45 of 51 2/16/2020, 4:09 PM
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42. Solve the logarithmic equation, "/ = )6‘( )({" 3] / f S
f/{,) Fs)—rCo) (-s¥3/°< [

log x+ log(x+3)=1 /0 = X ( ,(,_r i
Determine the equation to be solved after removing the logarithm. [/UJ( s ) —f £ c/> ( el =
84D D,

V= 17' 2
o 3 ( 1 == )
Select the correct choice begow and, lf/(ece fl?l Q%e answgr box to complete your chonce
K — 22O ot )(;fs": -
O A. The solution set is }. A= =TI

(Simplify your answer. Type an exact an er Use acomma to separate nswers a
needed.) 7 'L—f L=-uTl. (On )/./_—_3:\ C/Jr'r;
QO B. Thereis no solu /\Z \ = G’_—ﬁ\\ »(:L_?_
Answers x(x +3) =10 Z 09 > (Z/) + //Uj ( T
A.Thesolutiésetls{ 2 /L})(Z )-f/"ﬁ/g/ /

(Type an equation. Do not sgpl;f’?) /

(Simplify your'answer. Type an exact answer. Use a comma to separate answers as needed.)

& : '/
s i C}’_Z;\_;Ce ( //_,
ID: 4.6.17-Setup & Solve e i P

43. Solve the following logarithmic equation. A) (j N /)___fa [ / 7 ) . / // C h///

log (5x+1)=1+ log (x-9) / _SeES o /
L" i Y= ‘l. — B

Select the correct choice below and, if necessm ary, ﬁll in the answer box to comepte’jfour choice.
s 5S¢ L

O A. The solution set is { 3. / 0 _ X— 9 Z

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.

QO B. There is no solution. V(=18 S" X /

/ b J</.. q (

Answer: A. The solution set is{ % } /U (//q) /( D(-// ) (V=SS MiLw’q

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed. {’ q' |
SOy —F0T $xr /  Chade T (T
(0¥ 0450~ S T85O K (7. 2>~

_LH\! /.f —

Lo st 9 y /z““‘ z (3. 2)Z

Wiy = SX7 T —5X L 5
/W;; ‘ /)/—ff'//u' @T/i»z)—f/) =/ “f Las (//“2'_@)
= #

(2 ety 1t (1)
X - ,eu/ &))’((ﬂ) = oy (1)
1 Croeel Croo4

2/16/2020, 4:09 PM

- . i, S . ———
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ID:4.6.19
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44. Solve the following exponential equation. Express irrational solutions in exact form and as a decimal rounded to

three decimal places. )/f = (a2 ¢ N ) = v/
) 6" 4 M (¢ Mt ()

#5216 e 5 | <) ) b (] = (7¢)

What is the exact answer? Select the correct choice below and, if necessary; fill in the answer box to complete your

choice. XS o TRl /7 3 (/”’Y_#Q / //(/
O A. The solution set is @ /V// /
(Simplify your answer. Type an exact answ 1’) /{/..-— = ﬂﬂ

O B. There is no solution. Yy P,
What is the answer rounded to three decimal places? Select the correct choice below and, if necessary, fill in the
answer box to complete your choice. — f

/{/ — XA w 1

O A. The solution set is { b.

(Simplify your answer. Type an integer or de¢imal rounded to three decimal places as.

needed.) . a -f‘,\‘\\\
7 J/z (76

(O B. There is no solution. 74_3 \‘

ID: 4.6.41

S ————— R

1
————— ——

45. Find the amount that results from the given investment. /4 / ]( / / A €

$600 invested at 6% compounded quarterly after a period of 3 years

After 3 years, the investment results in $ ; ( W( ) /

(Round to the nearest cent as needed ) C
s 0

. é o /,f -

sai B Ly :// / ﬂ?/

4 Fbooi )
Q// 7/7 3709009 __~
(/‘)'f‘—?/i? 5 7 %qu

S e o
T . et o 8 ——_ ’\_/-/\

47 of 51— S 2/16/2020, 09 PM——
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-
: ___‘/ - 1/’ e
stment té duuble in value if it is in ) é?%}ﬁonlpoundéa}onthw? []/E'j-—,h

How long does it take for an i

< Compounded continuously? * 2¢ O O |
20 "/C’O(/T Z 5 Z A ,_{U gu.) A7 e
At 7% compounded monthly, the mvestmen{ éou les in about [ years. f_7__‘17—- ~ >7£’
(Round to two decimal places as needed.) = &o, s ;
Bl T /(4
At 7% compounded continuously, the investment Eloubles in about Jé ( / (47 ? )>
(Round to two decimal pIaces as needeg ( ( 4// g) /7 Z,, ( . - / y
L 0D . ¥ ‘(‘ =
S5 = pellt J(/w (1+3)) ik (/w“f)) Noz)- 1At
Answer5993 /,.,.,0/‘ /2 ¢ (7. ,30/5&7/5__{*5‘#& {n..,&) 6[74((/ /_
/57[5)“ (/7“—4/) 'ﬂgl?'[y-&""/

r'ci )
|D:4.7.35ﬂ,/g) - /Z(%(/ )\ ﬂ""“"" Q:‘/«z ols77 ¢

-

e b S —— T -"\.P’U——\c —
47. How many years will me for a/n-‘:r;ltlal mvestmen(of $40 000 to grow tc(§60 000? Assume arate of mterest of
C 12’/_0 compounded continuously. ;* g oo = Yoo @ ¢ / //S ) /7¢ /1 }
- 7 - © ‘C
'4 ﬂ It will take about years for the investment to grow’to $60 00. —
- 80800 /. ) = + /7€
(Round to two decimal places as needed. o7& ©
6ooye = ydtwe” " / //f/’ - ‘—L/’é
Answer: 2.39 Yoy /Mc' ? /
— ) /
ID:47.41 — (o5 ) - /5‘

,__5()
ot )= H/ {m’(/" kzx__*_/t 5 me/
ey {4 A1 C)"

48. The population of a colony of mosquntoes obeys the law of uninhibited growth Use this information to answer parts
(a) through (c).

(a@# is the population of the colony and t is the time in days, express N as a function of t. Consider Ny, is the
( ;;g n

al amount at t=0 and k# 0 is a constant that represents the growth rate.

N(t) = (Type an expression using t as the variable and in terms of e.)

(b) The population of a colony of mosquitoes obeys the law of uninhibited growth. If there are 1000 mosquitoes
initially and there are 1600 after 1 day, what is the size of the colony after 2 days?

Approximately mosquitoes.
(Do not round until the final answer. Then round to the nearest whole number as needed.)

= ,;”__.—q
6‘90‘” long is it until there fQO,i)OO/mosquitoes?

About days.

(Do not round until the final answer. Then round to the nearest tenth as needed.)
(5 )
Answers N et @ Q / / / 4/

2560 O &7 %/%/ ,,_/&ﬂa CD ) J
) < /wﬁC’ = /{0 O
—S F000¢ = JE OO

48 of 51 2/16/2020, 4:09 PM
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49. The half-life of carbon-14 i year§_1f_a piece of charcoal ade from the wood of a tree-shows 0@3% of the
carbon-14 expected in living matter, , when did the tree die? 4= ( 63 = /g,/ %/! S
3=/00( 4 ) Feos (%) & S
The tree died about years ag AN / )

(Do not round untfl the final answer. nal answer. Tien to ttye rest whole number.) ' ' e N
/&'t’.' = U'J ’/ 5% o - 063/ - e g73}' T

Answer: 3733 (3 / )_(N 7,77;5 S0 fzciw//(
/L SEo Ut :(éj £

N (63 /l/m,_,_./;(_ St o
|D4é11 Y ale 3 &(&L{’SBZWU

r/.e :_

— 1 =
50. After the release of radioactive material into the atmosphere from a n&dﬁa[,g%ger plant ina country in 1993, the
hay i country was contaminated by a radioactive isotope (half-life 8 days).\If it is safe to feed the hay cows
when 15% of the radioactive isotope remains, hog long did the f;rmers need t-o/v?to use/ thi hag

v ‘(? g 4
The farmers needed to wait app imately < ays for it to be safe to feed th
(Round to one decimal place as needed.

/5= svo (¥
i

Answer: 21.9

L2 o (4) ¥/ - -
P @0 0 ~ '
ID: 4.8.21 Pire ./Z"WV/ £ WF . = — =
B /5= (5)7 T ,;- Q24 G =8 Rown/
il SE—— T wt_____u - -

51. Solve the syste of equahonWhe system has no solution, say that it is inconsistent.

23 ¢ ¢
{3’“43'2 M) By—v9= /:Lq /‘ZM(-_ yo
5x +y =11 / _/Z_f,{ﬁ_i‘“‘l i 7:{__" = 2

' 25(7“0’?‘6 ,{':?._

Select the correct choice below and, if necessary, fill in any answer boxes within yo

g\-t (',& ‘L ? )/ o (@ S
O A. The solution of the system is x = andy= 3 [Z) = (,,/ 7
(Type an integers or simplified fractions.) (; F
(O B. There are infinitely many solutions. Using ordered pairs, the solution can wrttten as / P il
{xy)ix=  y any real number}. / =
(Simplify your answer. Type an expression using y as the variable as needad ) — e / — Ly
(O €. The system is inconsistent. _,9/‘7 =y
—_— T —
Answer: A. The solution of the system is x= 2 andy= 1 = _(7/

(Type an integers or simpliﬁed fractions.)

=

QP A

S T

o M

$o

ID: 6133
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52. Solve the given system of equatlons If the system has no solution, say that it is inconsiste

ceayraze 19 2VD, 7 ‘J”y) Ed 4 ﬂ] erle XY o)

- F =% /9
2x+ y+ 2z [A_{ Z : / 3

-2x+3y-3z= -
3 =3 4

Select the correct choice below and fill in any answer boxes within your chdice.

O A. The solution is x= y= ,andz=
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= RE , z any real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

QO C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x=_ .,y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent. ' "
N Z-/t/O/tﬂ’?c///K ///<-//1/ ///f}[/( ’)/ ey Le

Answer: A,
The solution is x= 2 = ,and z= . (Type integers or

simplified fractions.) o
a U - }
ID: 6.1.45 rr{%(mp [ / -
ke :

53. Find the sum of the sequence. C){ U (' j e ﬂ/“ C / C"’/V{»’

3 -9 23 /4/@%'\177’5?;\ I hirg 5

Y (3k-5)= e
B ) + (3(0-= (30)-=) + (302

Answer10(5_s){(6 S-j -f"/q ;7/7"[/1 Q)_
wsin (VT 1 ) +(7): (1

54. Expand the expression using the bjnomial theorem.

(x+3)°

(x+3)° =

Answer: 5 4 15,4 + 90x3 +270x? + 405x + 243

/0«(’)(/ /;( / [‘5(

ID: 7.5.17

50 of 51 2/16/2020, 4:09 PM
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55. Find the real solutions of the equati ../ [/’ ( / 7 - /{/.__ %rwr/ L
7+4/3x—17 =x e - ___;——'f”

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

O A. The solution set is
(Simplify your answer. Use a comma to separate answers as needed.)
O B. The solution is the empty set.

Answer: A. The solution set is { 11 }
(Simplify your answer. Use a comma to separate answers as needed.)

. e ;
oass (Vr-17) = () " Seci bkt si,

S~ 7~ k’yf(-*7)

2/ 7 L X =T T T

A7 xSy T '

< /(‘L’/_V/(‘T??—I/T-/r( )
Oc X" (7 x+6¢ |
0 (c— 6) (<= 1D
f~6=p O NAI=©
—er§=art *¢”¢”t_0f//
/ﬂf/fé/ﬁ“ o

742017 = X

7%u§00ﬂ7~(”]
7+ U334, =
7+ v7C<. I/ e
7=V

7ﬁf,%w-{ '/@/

7’7“(//7 7




56. A winery has-avat with two pipes leading to it. The inlet pipe can fill the m@u}s, while the outlet pipe can
empty it/in 5 hours. How long will it take to fill the vat if both pipes are left open?-

It will take hours.
(Type an integer or an improper fraction.)

Answer: 15

iD: A.9.51 i’ ——
E
<

. / =, .“\
i1 of 51 < 6 - /Z \ézﬂ?iy/ 7 2/16/2020, 4:09 PM
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